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B = {x,y, z} be a crisp set, and R be a crisp relation given as
follows:

a\ ;
b'\\.y B' = {(x, 0.2), (y, 0.8), (z, 0.7)}
Co— y4




Extension of Fuzzy Set
R C AXB

/N

Fuzzy relation fuzzy set  crisp/fuzzy set
Extension by Fuzzy Relation

« B'SB induced by the fuzzy relation R and the fuzzy set A:
B = {(y, Ha(y)) | Hs(y) = MaX, g1 (xyy m & [MiN (A(X), PROXY)T



Extension of Fuzzy Set
R € AXB

/ol N

Fuzzy relation fuzzy set  crisp/fuzzy set
Extension by Fuzzy Relation

« B'SB induced by the fuzzy relation R and the fuzzy set A:

B = {(y, Ha(y)) | Ha(y) = MOX, <1 (eyyin & [MiN (A(X), Ba(x.Y)]
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« B'SB induced by the fuzzy relation R and the fuzzy set A:

B = {(y, Ha(y)) | Ha(y) = MOX, <1 (eyyin & [MiN (A(X), Ba(x.Y)]

« Let A={(a, 0.6), (b, 0.9), (c,0.5), (d, 0.3)} be a fuzzy set,
B ={x,y, z} be a crisp set, and R be a crisp relation given as
follows:

0
b%y B' = {(x, 0.5), (y, 0.6), (z, 0.7)}
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